Question 1. (AQA June 2004 Intermediate Paper 2 Caleulator OK)

Question 5. (AQA Movember 2004 Intermediate Paper 2 Caleulator OK)

(ke is an even number. (b) The letters a.ond b represent
prime s,
Jo says that jk lisagseven. | givean exarple to show that a +b is

Give an example to show that Jo is Y shiop pnranuner

wrong,

[t mark] [tmark]

Pis a prime number,

G s an odd nurmber.

State whether each of the fallowingis abways odd or abways even or could be
gither odd ar even.

Question 2. (AQA June 2006 Intermediate Paper 2 Caleulator OK)

Hassn says

m ( \
| When vou square a positive number the answer

A5
\L‘Ej < is always bigger than the original number
L L

Far exariple

25°=625ad 625 is bigger than 2.5

Tick the appropriote box,
(@ hQ+1)
Alwars odd Alwavs even Could be cither
odd or even
EQ-r
Alwavs odd Always even Could be either

odd or even

(1 miark )

Find an example o show that Hassan is wrong,
You must show your warking,

Question 6. (AGA June 2003 Intermediate Paper 1 NO Cakulatar)

[Z marks)
Question 3. (AQA June 2003 Intermediate Paper 1 NO Cakultor)
pis an odd rumber.
Expliin why p° + 1is alays on even number.

[Z marks)

(@ Work ot the value of (b a and b are prime nurbers.
5+ 5f ab’ =54
Find the values of a.and b.
[Z marks) [Z marks)

Question 4. (AQA June 2004 Intermediate Paper 1 NO Cakulator]

Totn, Sam and Matt are counting drum | How tany beats is it befare Tam, Sam
bieat. and Matt next hit their drums at the
Torm hits a share drum every 2 beats. | same time?

Somhits akettle drum every 5 beats,
Matt hits a bass drum every 8 beats.

They start by hi ting their drums at
the same time. [Z marks)

() Find the Highest Camman Factor (HCF) of 54 ond 135,

[Z marks)

Question 7. (AGQA June 2005 Intermediate Paper 1 NO Cakulatar)

(i3} Wifrite: 18 as the product of its (b Wt is the least common multiple
prime factars. {LCh) of 12 and 187

[2 marks] (1 tnark]




